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Address B W N

Country e Keys. You did not action my points from your first attempt. I will have to number them
ggﬁg:gégde AR ' for you. Items [c][d] relate to Keys and Identifiers. Read my IDEF1X Intro again.
Name I No row uniqueness * What is the Identifier for a State ? You have StateCode, which is the 2-char ISO
g:ég:ﬁonmte 2 Perfectly good natural Identifier, not used code. Really ? You can walk up to the database, ask for a CountyCode, and you will
ExpiredDate get one row ? Really ? There are thousands of States. Hint: we have the [N]orthern
} [T]erritory, Canada has the [N]orthwest [T]erritories.
Has e What is the Identifier for a County ? When the user walks up to the database, with
: State one County is mind, what does he have in mind, how does he Identify "Lee County" ?
) izizii;m * County(CountyCode) is unique ? America has 50 States, they have a minimum of 1
| - - _o<statecode ak| 1 No row uniqueness County, they start with 001. The moment you attempt to insert the first County for the
e 2 Perfectly good natur second State, it will blow you away.
FullName * Street(StreetName, StreetTypeCode) is unique ?
His One street of one name-+type in the whole Street table ?
1 Did you mean Street (SuburdId, StreetName, StreetTypeCode) is unique ?
: g)?ligzd * Do you want two countries named Brazil ? I showed you how to prevent that three
| _ _ _ oo State1d years ago, you have forgotten. America has 13 Counties named "Lee County".
CountyCode AK This applies to all seven tables, every one of them has a gross error on the Key. Talk
Name T through each point with Ken. If you come back with Keys that are less than 95%
Has complete, if you fail to follow my directions again, I will burn your books.
: Town
I od 22:"211_;1 5 1 No row uniqueness B
Name ak| 2 Perfectly good natural Identifier, not used
1
Has
| Suburb
StreetName StreetType | B G| 1 No row uniqueness
- = = — 0« TownId am
[str eetNam‘i I S;;ZetTYPeCOde I e— ak| 2 Perfectly good natural Identifier, not used
| I t
Is Used In I Has
: Classlifies : SSttreeEId
1 o T ':: Suburbrd
L _______ —o<| StreetName AK.1
StreetType.Code AK.2
Overall 1 No row uniqueness
The issues are the same as the last time. This is a Record Filing System. It fails Relational mandates on two 2 Perfectly good na%&%rledsegtiﬁer, not used
counts, it is non-relational. ! R
1 Definition for keys, from the RM: a Key is made up from the data : StreetId AK.1

* A surrogate (Recordld) is not made up from the data 1 gﬁri"]zer ii;

* There are no Keys on the data oo o POStCOde

e Yes, you did add Keys, but they are invalid, therefore still no Keys HSIIETIoCE

2 The RM demands unique rows (data) 1 No row uniqueness
* A surrogate does not provide row (data) uniqueness, only Keys supply row uniqueness 2 Perfectly good natIurDal llsientiﬁer, not used
Re Normalisation, (if we consider that outside the Relational Model): [zepetivery
3 It breaks Third Normal Form, because in each case, there is no Key for the data to be Functionally
Dependent upon (it is dependent, yes, but on a pork sausage, outside the data, not on a Key).
This RFS is nowhere near ready for Normalisation, let alone Relational Normalisation.
AQdress 1S uniquely ldaentiriead by ( Aqadressida )
Address is uniquely Identified by ( StreetId, Number, Unit )

Counzzintiy] I hate to repeat, but nothing has changed. IEEE Relation Notation
Country a These are idiotic Business Rules, they merely declare the Records : Identifying
CORSESY in your Record Filing System. Of course, every File in a RFS is l:1n

cOunEgu;inz. independent, but not so in a Relational Database. No better than : Identifying o<
County ] last time, and last time, they were bad, bad, bad. 1::0-n
County ! b T have told you one hundred times, if you start the design process — Non:Identifying _

Stat:tiielri‘f by sticking Recordld on every box, you cripple yourself and the L::1-n
state 1¢  Mmodelling exercise. Forget the rectangles with an ID. Start with Non:Identifying
state he  circles, the way I showed all of you on the course. IDEF1X is a 1::0-n

Street is T4 Methodology, not merely a notation. Follow it. . Subtype o
:EZZE - ¢ Go and discuss this with the business, and determine the real ) 1::0-1
Street 1 Identifiers, the real Business Rules. Eg.  Logical Only .

StreetName ; State is Dependent on Country G IDEF1X Notation i 1-n::1-n i
StreetNe [t is crazy to imagine a State that doesn't belong to a Country !

Streeth d Find out what the data is, what it means, how it relates to all other IDEF1X Method & Notation

StreetType - datain this cluster. Progress the circles on this basis. I would ltem Definition Display
StreetT: find those incomplete-but-correct circles more acceptable than Key

suburb is Ir  finished rectangles that are broken. Primary Key: Unique Above line
Suburb is uniquely Identified by ( SuburbId ) Alternate Key: Other Unique key AK
Suburb is uniquely Identified by ( Name ) Inversion Entry: Non-Unique index IE
Suburb has 0-n Streets Entity

Town is Independent . Independent: Exists without a parent Square
Town is uniquely Identified by ( Townld ) Dependent: Dependent on a parent Round
Town is uniquely Identified by ( Name ) .

Town has 0-n Suburbs Relation
Identifying: Parent PK forms child PK Solid line
Non-Identifying: Broken line
Erection: Developer Parent PK is always a migrated FK in child Bold
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Country
CountryId
CountryCode .
Name 1 No row uniqueness
FullName 2 Perfectly good natural Identifier, not used
FederationDate
ExpiredDate
Has
! State
! Stateld
! CountryId .
- - - —ogstateCode 1 No row uniqueness
Name 2 Perfectly good natural Identifier, not used
FullName
Has
1
\ County
1 CountyId
| - - - _oglStateld 1 No row uniqueness
Con R 2 Perfectly good I 1dentifi d
Name ertectly good natural Identifier, not use
Has
| Town
1 od 221'211_;1 = 1 No row uniqueness
Name 2 Perfectly good natural Identifier, not used
Has
| Suburb
StreetName StreetType i e iﬁf’:’;gm 1 No row uniqueness
[EEzesenansT | [EE=EEERe | Name 2 Perfectly good natural Identifier, not used
[Name | [Name | +
1 1 Has
Is Used In Classifies : Street
! ! « — — — ogStreetid
! | e e e e e e e o ___o___ o SuburbId
L o< StreetNameId
StreetType_Id
Overall 1 No row uniqueness
This is a Record Filing System, you have been reading books by written by apes. Apes who eat pig poop, 2 Perfectly good nat&é%rledsegﬁﬁer, not used
straight from the backside of a sow. It fails Relational mandates on two counts, it is non-relational. Sure, the 1 Addressid
pre-relational apes are specialists in primitive RFS, they have grand theories about them, and they are : StreetId
completely ignorant re the Relational Model, and impotent in that space. 1 gﬁri"]zer
1 Definition for keys, from the RM: a Key is made up from the data r og POSECOde
¢ A surrogate (RecordId) is not made up from the data HSIIETIoCE

1 No row uniqueness

2 Perfectly good natural Identifier, not used
|TsDelivery

* There are no keys on the data
2 The RM demands unique rows (data)
* A surrogate does not provide row (data) uniqueness

Re Normalisation, (if we consider that outside the Relational Model):
3 It breaks Third Normal Form, because in each case, there is no Key for the data to be Functionally
Dependent upon (it is dependent, yes, but on a pork sausage, outside the data, not on a Key).

This RFS is nowhere near ready for Normalisation, let alone Relational Normalisation. Stop visiting the barn

. IEEE Relation Notation
Business Rule

. Identifying .
To assist those who don't know how to read an IDEF1X data model (R Brown 1985, after E F ' 1::1-n '
Codd), all Business Rules (predicates) implemented in the model are given in text form: o
Identifying
Address is Independent ' 1::0-n o<
Address is uniquely Identified by ( AddressId ) o
Country is Independent — _Ngn—_]dgngfzm_g -

Country is uniquely Identified by ( CountryId ) L::1-n
Country has 0-n States EF

Y — Non-ldentifying o
County is Independent 1::0-n

e These are idiotic Business Rules, they merely declare the Records Subtype

: o
stat  in your Record Filing System. Of course, every File in a RFS is 1::0-1
independent, but not so in a Relational Database. . Logical Only |
ot e I have told you one hundred times, if you start the design process @ IDEF1X Notation I-n::1-n
re C . .
by sticking RecordId on every box, you cripple yourself and the -
modelling exercise. IDEF1X Ifllejt.hod & Notation :
stre  IDEF1X is a Methodology, not merely a notation. Follow it. ltem Definition Display
* Go and discuss with the business, and determine the real K;y‘ Kev: Uni Above [i
Identifiers, the real Business Rules. rimary h.ey: ) mque ove fne
Stre . . . . Alternate Key: Other Unique key AK
* Find out what the data is, what it means, how it relates to all other Inversion Entry: Non-Unique index IE
data in this cluster. Entity
Suburb is Independent . . .
Suburb is uniquely Identified by ( SuburbId ) ]I;l(‘iepe(rilder.lt. EX‘IStS (\lNlthOllt a parf:nt Squar(;:
Suburb has 0-n Streets ependent: Dependent on a parent Roun
Town is Independent Relatior} ) ) o
Town is uniquely Identified by ( TownId ) Identifying: Parent PK forms child PK Solid line
Town has 0-n Suburbs Non-Identifying: Broken line
Erection: Developer Parent PK is always a migrated FK in child Bold
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